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aAanTUBHOU FeHepauuu TecToB

LIUPPOBLIX YCTPOUCTB
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e Tun mecmupyembix HeucripasHocmeu:
OOUHOYHbIe KOHCMaHMmMHbIe

e O6Bekm duazHocmuku (Of]): koMbuHaUyUOHHbIE
u nocrsiedosamesibHocmHbie L|Y, nocmpoeHHblIe
Ha UMC TTJ1, MOI1, 3CJ1

 BxodHou cpopmam onucarHusi Of:
EDIF 2.0, ISCAS’89




OCHOBHbIe PYHKUUNMU
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OnpepeneHune NONHOTLI TeCTa
v AHanNu3 akTUBHOCTMU BbiXoaoB u Bxoaos O
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N ycTpaHeHne COOUHbIX CEerMeHTOB TecCTa

v PepaktnpoBaHue tecta ¢ NOMOLLLIO BCTPOEHHOrO
pepakTopa
v OToOpaxeHue pe3ynbTaToB TECTUPOBaHUSA
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ATPG— rnaBHoe OKHO

" PRTG-LAN v2.

TTaxens

J* ®aitn ledepauma Cramcrka Owda  OrCAD l'lmntub
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| ynpaeneHua |
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[ 00.00]
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-LAN v2.1 -

Xema

} ®aiin  eHepauma CratmcTvka OkHa  MoMows
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Daiine cxem - 21
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) 0S9_091.EDF (100%, 100%) -
) 0S7_686.EDF (91%, 100%)
) US8_342.EDF (97%, 95%)
) 0S7_691.EDF (99%, 100%)
) 059_093.EDF (96%, 100%)
) US8_340.EDF (97%, 90%)
) 0S8_353.EDF (98%, 100%)
) 086_045.EDF (86%, 82%)
) 086_043.EDF (95%, 100%)
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26.03.2007{03:28:36: AKTMBM3aUMA BBIXOAOE CxXeMbl=30 %
26.03.2007{03:28:36: fAnvHa yCTaHOBOYHOro cerMeHTa=13
26.03.2007{03:28:36: finvMHa TECTOBOro cerMeHTa=21
26.03.2007{03:28:36: HeycTaHoBNEeHHbIX Tpurrepos=0 13 10
26.03.2007/03:28:36. Bpema reHepaumu (44:mm:cc,cek)=00:00:10.195

26.433.2007/073:28: 36 TEHANAINA 3ARANIIEHA
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MonHoTa TecTa, % Obwee spema
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EI {5 | 00:00:27.860 0.00 MonHoTa TecTa 0.00 Ko3ach, nonesHbIX BEKTOPOB
TECTOBbLIF CerMeHT a0 " 1050
~ WHdopMaumrs # 2
Tekylwan cxema: 058_352.EDF
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BxoaHblE NopTbI: 36 55 3.03
BbIX0AHBIE NOPTEIL 29 :
CreHeprpoBaHo BEKTOPOE: 2734 e 3
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payua ocT
~ CeTb 2 2
[%] BrnrounTE ceTeBoi pexmim
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3apgaHue napameTtpoB ATPG
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7 YCTaHOBKM NpOrpamMbl |
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-~
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MHHMMaNbHOE YMCno BekTopoe Bes "X" B KOHUE YCTaHOBOYHOMD CerMeHTa [1

(%] Mcnonb3oBaTE ANrOPHTM 3AANTHEHOH FEHEPALMH NCEBAOCNY-

— YCTaHOBKM reHepaTopa NceBAoCAYYanHbIX TECTOB —— (— [eHepauna cTumMynos OrCAD —
~ SKcnopT » ANUTENBHOCTE TaKTa
Tuvn reHepaTopa no yMondanuo | MonLinear v
- -~
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Pepaktop TtectoB YUTY
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CtaTuCcTUKa NO TeCcTy U

oA

OnMcaHue napaMeTpa 3HaqeHue
HazeaHne cxembl 527.EDF
KonM4ecTeo NOrM4ecknx 3NeMEHTOB
KonM4ecTeo TPMrrepos
Konn4ecTeo BX0AHLIX NOPTOE
Konn4ecTeo BeIX0AHBIX NOPTOB
Ofee KONMYECTBO KOHCTaHTHBIX HEMCNPaBHOCTEH
KonuuecTeo HeoBHapyeHHBIX KOHCTAHTHBIX HEMCNPABHOCTEN 50
OrpaHu4eH1e NoNHOTEl TECTa 100
OrpaHu4YeH1e NoKPbITHA BbIX0A0E 1
Tvn reHepaTopa NonLinear
BepoATHOCTE HYNA HENWHEHHOrO reHepaTopa 0.5
PazpaaHOCTE NOAMHOME 32
TekywWwaa NnonHoTa TecTa 66.00
Tekylwee NOKPbITHE BBIXOAOE 100.00
ANMHa YCTAaHOBOYHOMO CErMEHTa 6
AN1Ha TECTOBOrO CErMeHTa 7
Bcero nonesHblx BEKTOPOB 13
Oflee YMCNo creHeprpoBaHHbIX BEKTOPOE 19219
Konn4ecTso XonocTeIX UWMKNOE 284
KonM4YecTeo HeyCTaHOBNEHHbIX TPHITEepoE Ouns 3
KoaddHUMEHT NoNesHLIX BEKTOPOB 0.00
Ko3thhHUMEHT MCNONB30BaHKA rpatha CoCTOAHMH 0.00
Ko3ddHrumMeHT nepexodos no rpady COCTOAHKA 0.00
BpemMa reHepaumm 00:00:42.231

—Pe3ynbTaThl TEKYWEHN CXeMbl— — Bpema
MonHoTa TecTa, % Obuwee spema
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AuHamunyeckue rpadpmkm xoga TectTupoBaHus

0.00 MonHoTa TecTa 0.0 ’
10000 100
0.00 MonHoTa TecTa
8 £ 1o0f00
E3
0.00 MoKPLITHE BEIXOAOE 0.0
16 66,
0.00 MOKPEITHE BBIXOAOE
5 2 7 AR
5| i/
o MonesHeie BeKTOPa 0.0 y/
46 0 0
MonesHble BeKTOpa
5 5[ | 0
5
0 HencnpaBHOCTEN B CekyHAY 0
0 HeMcnpasHocTed B cekyHAy 0 HoBble COCTOAHNMA
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Fault Searching Algorithms
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Statistics

* Model based statistics of check points per

* Mode statistics of check points for 80 PCB
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server architecture
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Test Processor

o

FT245BM USB FIFO ( USB - Parallel ) I.C.

s DALLAS

SEMICONDUCTOR
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delay
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clock generator

11T
s

C;} Cyclonef@
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RE Transceiver with Reed-Solomon codeC

:: RECEIVER K\\
ol i e ) g ol

]
Transmitter T “
Distance Control Transmitter Receiver Re%e:"z’olb'gﬁ?c o
Unit modulator demodulator ' ' b

Receiver Flash
Memory Storage |

v/ Transmitting (receiving) data frame to (from) radio channel;

v/ Reed-Solomon noise combating code frame protection
v/ (VHDL, Verilog, Altera’s Cyclone FPGA, USB)

Transmitter Flash
Memory Storage |




[1oHeuUKMn HauMoHanNbHbI TEXHUYECKUU YHUBEPCUTET

Cucrtema aBTOMaTU3NPOBAHHOIO MHTEPAKTUBHOIO
KOHTPOMNA 3HaHUA

ATP
ADVANCED TESTING PACKAGE



CTpyKTypa naketa

AOMUHUCTpaTop

l

PepakTop
ATP Editor

—

N

MpocmoTp
OTYeTOB

ATP Viewer

A

Cucrema
MOOEeNMpoBaHus

]

dann
pe3ynbTaToB

A

KomnunaTopsl
HDL

Basa
TECTOB

N—

\/

AHanusaTop
ATP Verifier

i

T

NHTepdenc ¢
KoMnunsitopamu

Nonb3oBaTenb




PenaktnposaHue BOMNpPOCOB

il > ATP Editor 4.8 - D:\work'HardClub' Test.New' Aldec ¥HDL Synthesis All (47 questions).at4 -10] x|
! ®aiin Bonmpoc Bua Cnyswbbl Windows MoMoLe
Ded B &SKée» RV @
! Aldec YHDL Synthesis &ll (47 questions). at4 I MSSA - 4.5 ver. atd l
—Bonpoc 1 —CnUMcoK BONpocoB |
% ER| o o= =1z = windowTew =1[ ]| Bonpocus: 47
= | gi=
B U |Z|s== =D& 3w || 2 % ji
Find designer's mistake in the synthesizable code below. VWhy this 2 Bonpoc 1 i
shift register is written incorrectly? 7
process (CLK, RESET) '-5@_ &
variable reg: STD LOGIC VECTOR (3 downto Bonpoc 2 =
M =
begin 8]
OUTP<= reqg:; ? B
if (RESET="1") th =
& B ; 5 R e :J Bonpoc 3
—BapuaHTnl oTBETa
EEEOE | & | & || whie || 2 =
®The OUT<=reg; assignment is placed incorrectly inside the process and caus — Boripoc 4
QO The reg variable should not be assigned in the RESET branch because it is rer i
|l = =l
i3 Bonpoc 1
4| K= = &2 =
—CsonicTBa PucyHok
Tun sonpoca |V Banaer [ Bpema[mud] [~ Moackaszku
?nk:,?—.E % %a % v % I = I3 vl |
Moarema CnosxkHocTe E
ICuures El O |1 El

Bonpockl: 47 [ |—FT] @ [ ] Z




CsowcTtBa 6a3bl BONPOCOB

N =] 0

Darin  Bonpoc  Bua  Cnyx6bl  Windows MoMowe
~ ~- . -
DR B Ker RV ®
] Aldec VHDL Synthesis All [47 questions]. atd l MSSA - 4.5 ver. atd I
-Tema-
Aldec YHDL Synthesis All Tests
—06wmue ceoficTBa 6asbl
DrpaH”qEHue cPemE : _
OrpaHuyeHue NoacKasok l—
e T, . W Cuer 3a NpaBUAbHLIA OTBET:
CTEMa ODUEHOK l1 :I,: O4YKOB Ona scex |
YpoBHuW oueHOK
Mopaaok sonpocos MNocae noackasku:
MonesoBaTensCKUE YCTIHOBKM " He BAWATE Ha cyeT
K (¢ ymMeHbWaTe Ha Gannel |1 =~
OHTPOAE A0CTYNA
{ YMEHbLLUATE Ha NPOLEHT
JononHuTeneHaa 6es30NacHOCTE
Cuer 3a HENOMAHLIA OTBET:
{* NpoONoOpUHOHaNEHO
" ofWKIA NPOLEHT OT CYET:
[Bonpocen: 47 Bl [ | 7




[1ononHUTENbHbIE BO3MOXXHOCTU

D ATP Editor 4.8 - D:\work'\ A.T.P}Atp5\Editor.3\MSSA - 4.5 ver.atd
darin  Bonpoc  Bna  Cnywxbel  Windows

_ ol x|

MoMowe

D E Se= (& @

Aldec VHDL Synthesis &ll (47 questions).at4 MSSA - 4.5 ver.atd I

— JlonoaHUTEenbHbIE CAYXObBI

MacTep NpoeKTa NOMOMKET BaM COSAETE NYCTYIO
[watnoHHYo)] 6a3Y BONPOCOE C YCTSHOBKOM HOBbIX
CBOMCTE.

MacTep uMnopTa NpeaHazHaYeH 418 UMNOPTUPOBaHKA
0a3 BONPOCOB, CO303HHBIX B Npeabayuius sepcuax ATF
[1.%, 2.%...] u uz TXF-pakinoe.

MacTep 3KCcnopTa MOMKET 3KCNOPTUPOESTE TEKYLW YK 633y
BONPOCOE B pasnuyHele ¢opmatel [HTML, TXF, v ap.)




{>Cybervova

[1lpoBeaeHmne onpoca

In what will result the execution of the following code?

i Bpema
55 0.01.31

—MNogckasku

BOMNPOC

// assuwme that all needed includes are present

class Caf
pubblic:
Caliconst char *pcszString) {
m pcszitring=new char [strlen(pcsz3tring)+

Strcopy(m poszitring, peszitring)

~ Bpema
{33 0.00.33

—MNoackazku

&3

[T Access violation because of double destruction

[ Access violation because of an attempt to destruct a non-dynamic object

¥ Printing ""This is sting &' on the console

[~ Memory leak

[¥ Fossible absence of any console output, or only partial output due to interal buffering in co

[T Console printing faults because of an attempt to print a string, which is already destructed.

= Printing "This is striing B'' on the console




[MpocMOTp pe3ynbTaToB TECTUPOBAHMUS

@” ATP4 Report Viewer _ (O] x|

File Reports Groups Help

Report Directory

Groups Info

IC] Edltor l m ¥
viES viES VIS VIS viES

SPOON SP-00M SPOO-N SPO0&, SP-00B

{1 2_2000 —]

E]D test Users Info

i IIIIIEI £l - Elf -~ H[--TH|
User | Group l Date | Score I b4 I Of I Cone_.
Alexander Shepil SPO0N 06.01.03 43 67 73 21
Andrey Gomozov SP-00n  06.01.03 37 50 73 17
Burba VK. . SP0On | 06.01.03 54 73 73 23
Report Folder: Changli SPO0N 06.01.03 39 53 73 17
Drmitry Kravtsoy SPO0N 06.01.03 43 58 73 15
ALDEC VHDL BEHAVIORAL TEST Dosta Sp00-n 06.01.03 45 61 73 22
lgnatova Katia sp00n 06.01.03 34 46 73 16
Kalinichenka S.N.  SP-00n 06.01.03 35 47 73 14
] Nick SPO0a  06.01.03 0 o 73 11
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Task Synthesis result

Synthesize circuit for this model:

entity CLOCK is
port [CLK_&, A, B, C: in bit; E: out bit); 'S U3
end CLOCK; w

CLK_A

architecture TEST of CLOCK is N IrY
signal D: bit; . N b
begin

m

process [CLK_A) AB—xr Ul

begin 7 e -
if [CLK_&'event) and [CLK_A="1") then E <=D and C; BE—
end if; Lis
if [CLK_A'event) and [CLK_&='0") then D <=4 and B; CEB
end if; —

end process;
end TEST:

< > <

Your answer

and2 (A, B. netl); —Element U0
d_ff (netl. nclk_a. D), —Element U1
inv (CLK_A, nclk_a); —ElementlUJ2
ande (D, C, net2); —Element U3
d_ff (net2. clk_a. E). —ElementlU4

Motes:

1) The circuit is described using standard primitives:

2] Each primitive should be placed on separate line;

3) Primitive format:
<primitive_name> [<signhall> <signal2>....];
where <signhall> <signal2> - entity's ports or interconnection
signals [connected to primitives in positional way):

4] Primitive can be placed manually or by double-clicking on
standard primitive list.

<] >
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Write a dataflow VHDL program using entity declaration to
obtain following waveform for Y.

entity INV is
port (A :in BIT:; Y :out BIT):
end entity INV:

v o« 10 ' 20 ' 30 ' 40 ' 50 ' G50

...........................................................................................................................




YHDL Testbench wizard

(Question subtype
The YHDL-question has two subtypes: VHDL-program and YHDL-synthesis and they have
different testbench structures.

(%) VHDL-program subtype
() WHDL-synthesis subtype

UUT Entity name
Enter Unit Under Test entity name ATP_UUT

UUT Ports
Port name Y $:|Dn?lél'”_
. - Ou
Potyee BT[]
Potmode Oln
o
O Inout

<< Back I Close | Default | Apply H Next >> I

YHDL Testbench wizard

Standard model
You must provide a VHDL code for standard model which will generate expected
responses. The entity of this model has the same view as the UUT entity, but you

have to write an architecture by yourself.

entity ATP Model is 2]
port |
L: In BIT;
¥: Out BIT:
i
end entity ATP_ Model;

architecture MylArch of ATP_ Model is A
begin
-— write your code here 1v|

<< Back Close Default Apply




